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Calculate each quotient.

60 ) £2076.60 2. 17) £1104.15 3. 86) £2040.78
26 ) £2512.64 5. 32) £1853.44 6. 69) £2070.69
43 ) £1836.53 8 60) £1820.40 9. 41) L£1285.76

If 54 identical meals cost £3153.06, how much did each meal cost?
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Dividing Money (E) Answers

10.

£34.61

60 ) £2076.60

—£1800.00

£276.60
—£240.00

£36.60
—£36.00

£0.60
—£0.60

£0.00

£96.64

26 ) £2512.64

—£2340.00

£172.64
—£156.00

£16.64
—£15.60

£1.04
—£1.04

£0.00

£42.71

43 ) £1836.53

—£1720.00

£116.53
—£86.00

£30.53
—£30.10

£0.43
—£0.43

£0.00

Calculate each quotient.

£64.95

17 ) £1104.15
—£1020.00

£84.15
—£68.00

£16.15
—£15.30

£0.85
—£0.85

£0.00

£57.92

32) £1853.44
— £1600.00

£253.44
—£224.00

£29.44
—£28.80

£0.64
—£0.64

£0.00

£30.34

60 ) £1820.40
— £1800.00

£20.40
—£18.00

£2.40
—£2.40

£0.00

£23.73

86 ) £2040.78
— £1720.00

£320.78
—£258.00

£62.78
—£60.20

£2.58
—£2.58

£0.00

£30.01

69 ) £2070.69
—£2070.00

£0.69
—£0.69

£0.00

£31.36

41) £1285.76
— £1230.00

£55.76
—£41.00

£14.76
—£12.30

£2.46
—£2.46

£0.00

If 54 identical meals cost £3153.06, how much did each meal cost?

£58.39
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